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Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.

P3813

Q1) A) Multiple choice questions : [5]

a) Urbanisation indicates a change of employment structure from
agriculture and cottage industries to mass production and
__________ industries.

i) Service ii) Professional

iii) MNC iv) None of these

b) _________ pyramid shows a constant pattern of birth and death
rates.

i) Contracting ii) Stationary

iii) Expanding iv) None of these

c) Permanent entry of new individuals of the same species into a
population from outside is known as :

i) Emigration ii) Natality

iii) Migration iv) Immigration

d) The arrangement or spread of living in a given area.

i) Population ii) Population Growth

iii) Population distribution iv) Population Density

e) Unemployment, Income conditions of the masses, standard of
living come under :

i) Micro demography ii) Macro demography

iii) Migration iv) None of these
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B) Define the following terms : [5]
a) Mortality

b) Migration

c) Nutritional Density

d) Sex Ratio

e) Urbanisation

Q2) Answer the following (any 1 out of 2) : [10]
a) Define the term Demography. Explain its nature, scope and importance.
b) Define Urbanisation. Discuss the importance and various problems of

urbanisation.

Q3) Answer the following (any 1 out of 2) : [10]

a) Define Fertility. Explain the factors affecting fertility in detail.

b) Explain the concepts of working and dependent population.

Q4) Write short notes on (any 4 out of 6) : [20]

a) Expanding age and sex pyramid.

b) Components of Demography.

c) Agriculture Density.

d) Measurement of population Density.

e) Sex ratio

f) Global warming
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